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The diagram shows the female reproductive system.

In which part is the egg formed and in which part does the foetus
develop?

Egg Foetus
(1) R P
(2) Q R
(3) S R
(4) S P

Which of the following about the male reproductive cell in the human
body are correct?

A: lthasanucleus.

B: ltisstored in the teslicles.

C: ltis produced in the penis.

D: itisthe largest cell in the human body.

{1) AandBonly ' (2) AandC only
{3) A, Cand D only (4) B,Cand D only

Which of the following is the path taken by a pollen tube after
pollination'of a flower?

(1) stigma. ——> slyle ——> ovay — ¥ ovule
(2) syle ~—— filament————> sligma———» ovary

(3) anther —— filitient ————  stigma—— ovary
(4) flament ———— sfigma ——> ovay —* ovule
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In the experiment shown below, each conical flask contains 4 identical
seeds on cotton wool.

darkpox / / light //
E

A B c D

e AN,

JUUNY AU

- = - f e . 3
Danp- Ory I_lq/md o Damp D]ry Diamp
CD“Q" calton absorb  cotton cotton cofton
wool waol oxygen  wool wool woo!

Which two conical flasks should be compared to find out whether light
is needed for germination of these seeds?

(1) Aand D (2) Band D
{(3) Aand E (4) Dand E






10.
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Study the graph below.

L

Number of 1
seeds
dispersed

Wind Speed

Based on the graph above, which of the following is likely to be the
description of the fruit which contained the seeds?

(1) fluify and light

{2) fleshy and sweet

(3) flat and has wing-fike structure
(4) small and has hair-like structure

The classification table below shows the classification of the cucumber
plant, love grass, bracket fungus and ladder fern into two groups X
and Y.

Group X Group Y
ladder fem chillplant- 10vE g¥QSS
bracket fungus cucumber plant

What characteristics ¢an be used to dlassify them into groups X and
Y?

A: Source of nutrition

'B: Method of reproduction

C: Uniceliular or multiceltular
D: Non-flowering or flowering

(1) AandC (2) Band D
3) Band( (4y Aand D
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14.  Jeremy germinated some seeds and recorded his observations ir:
table as shown below.
Observation Day
Seeds become syollon 2
‘Seed coats bieak 5
Roots appear 7
Shoots start to appear 11
| Shrivelled seed leaves drop-off 17
On which day wilt the seedlings most probably start 1o need light +
their survival?
(1) Day4 (2) Day 8
(3) Day 10 (4) Day 15
15.  Tom classifies some organism using the chart below.
""" toad, mosquito, grasshopper, mealworm beetle
Question A Question B No —Rg(
besit
mosquitc
Question C gras_shopper4|
toad
What are the questions for A, Band C?
Question A Question B Questioi:
(1) | Are there 4 stages in Is part of its life cycle | Does the'young .
_ the life cycle? spent in water? the adult?
(2} | Are there 4 stages in Does the young look Is part of its life cvix.
e life cycle? ke thie-adult? cspentinwatery
{3} | Is partofitsiife.cycle Arethere 4 stagesin | Does the young o 7
‘s,pent.ihgwa’ter? : the life cycle? the adull~
(4) | Does the young:look is part of its lifecycle | Are there 4 stages ™
like the aduft? spent in water? life cycle”







18. Study the water cycle below.

At point C, what happens to the surrounding air and the state of the

water?
Surrounding air Change in state
(1) Gains heat Liquid to gaseous state
2) Loses heat Liquid to gaseous state
(3) Gains heat Gaseous state to liquid state
(4} Loses heat Gaseous stafe {c liquid stale

19.  Which one of the following graphs shows the relationship between
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clouds
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\ Source of waler
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22.

Water
droplets

23.
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1

Felicia filled four similar containers P, Q, R and S with the same
amount of water at different temperatures. The containers were then
placed on a table in her kitchen. The diagram below shows the
containers after 15 minutes.

o D )OO0

Ty S gn e o
. e = = — oy v —n e emt e il it

Which of the above containers are most likely to contain water above
room temperature?

(1) Pand Q (2) PandR
(3) Qand R {(4) Pand S

Water can be conserved through reducing, reusing and recyciing.
William listed the following ways in which water can be conserved.

A: Repair a leaking tap immediately.

B: Purify sewage water to getdinking water.

C: Avoid washing the car with a running water hose.
D: Water the plants using waterfrom the aquarum.

Which one of the following shows correctly how water is conserved for
each situation.

Ways to conserve water
Reduce Reuse Recycle
1 A, B C D
2 B,C A D
(3) A C | D B
() AD T B

12
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26.  Jill hung two identical wet scarves, X and Y, in a room kept warm by a
heating lamp as shown below. She weighed the scarves at regular
tervals and used her results to plot a graph.

—_—

-

(A
heating

=

Which one of the following graphs shows the most likely results
obtained by Jil?

m Mass of scarf {g) @ Mass of scarf {g)
A 1\
BO 80
60 1 60
40 40 1
20 T 20
ele] 120
Time]min Time/min
(é) ~ Mass of scarf (g) “) Mass of scarf (g) '
T 4
80
60
40
20
30 60 90 420
Time/min Time/tmin

14
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28. Betty lowered a ball of plasticine tied 1o a2 string into a container of
water. She noticed that the water level rose to the 250mi mark.

mi

300 — — string
250
200

150
100

50

ball of pfasticine

She then fifted the string to remove the ball of plasticine out of the
water. She divided the ball of plasticine into three pieces and lowered

them slowly into the water again.

Which would be the approximate water levelin the container after the
three pieces of plasticine were lowered into the water?

(1) 100mi (2) 250ml
(3) 150 ml (4) 300ml

29.  Azman placed a bottle with a fightly fitted stopper over 2 flame as
shown in the diagram. He obsetrved that the stopper popped out after a

while.

stopper

empty flask

Which of the following correctly explained his observation?

(1) Thesstopper confracted and became loose.
(2) Thebottle expanded and pushed the stopper out.
(3) Theairinside the botile expanded and pushed the stopper out.
~ (4) Theair around the bottle expanded and pushed the stopper out.

16
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33. Bala planted a 2cm identical seedling in each of 4 similar pots. Each pot
contained the same amount and type of soil
He watered each seedling with different amounts of water daily. Then he
measured the height of each seedling at the end of 10 days and recorded his
observations in the table below.
Pot | Amount of water g‘iven daily (ml) | Height of seedling after 10 days {vm)
P 20 3 _
Q 35 : 6 i
R 40 - BE 9 -{
S - 45 : 12 o
{a) What was the aim of the experiment? {1m)
(b) Draw a bar graph in the space below to show the height of the seedling in
each pot after 10 days. Label the Xand Y axes. (2m}
‘_[. i v - — - —;;-
(¢). He wanted fo ensure that his results were reliable, but he did not want to

‘repeat his experiment. YWWhatdo you think he should have done at the start of
his experiment?’ (1m)
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35 Look at the classification chart below. Complete the chart with suitable words
'in (a), (b)and (c). B (3m)

Methods of reproduction

L L
(@ (b)
| _I B 1
Binary Fission Budding Give bitth to
young alive {c)
N | | 1
Paramecium Yeast ~ Horse Frog

36. The graphs below show the pattern of growth of a fish and an insect from

young fo adulthood.
A il.
5 &
5 £
T v ]
. c
3 3
e >
o <
&1 g
Time(Weeks} Time(Weeks)
Growlih pattem of fich . Growth paftent of ingect

(a} State one similarity between the growth pattemn of the two Qrganisms. {im)

Question 36 is continued on page 5
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37.  The diagram below shows the parts of plant A.

cell membrane
chloroplasts

nucleus cell wall

.{a) Which part of the plantis the cellleast likely to have been taken from? (1 rh)

(b)  Explain your choice in (a}. (1w}
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39.. Kenny heated a kettle of water and recorded how the temperature of the water
in the kettle changes over time. He tufned on the slove at period B.

Temperature / °C 4
100 -+

| I 1 1 1 L e

i I I ] i i -

A B C D E F Time

{8} On the graph above, madk with an ‘X’ when steam had been formed. (1m)

()  Kenny did notlower the fire on fhe stove or turn it off. Suggest what he had
done 1o cause the temperature change between Cand D. (tm)

(¢} Draw onthe graph below fo show how the volume of water in the kettle will
change as the'water continued fo boil for 30 minutes. (1m}

Volume of water (ml) -
A

A

Water at start —
of boil

[t o b e e dam M e e W e ee em e

.
>

0 Time {mins)

(48]
Q
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42.  Mary boiled some water in an electiic ketlle as shown in the diagram below.

aluminium tray

Substance H

spout

Electric ketlie

When she held an aluminium tray a short distance from the spout of the boiling
kettle, substance H is formed.

(a)  Whatis substance H? (1)

(b)  Adter some time, Mary observed that less and less of substance H was formed
even though the water in the kettle was still boiling. Explain her observation.
(2m)

10






Rosyth School/Continual Assessment 1/ Standard Science/ P6/2014

' 44. Gabrielset up the apparatus below using different insulation materials of equal
thickness. He used beakers of the same size containing the same amount of

hot water.
A N
Material W Material X Material Y
/
&mﬁ\\\“‘% CRRELLETTES

N
\
\
D

L]

T A A

YR BRI RED

T Lot

A AR AR LT

TR

He measured and recorded the ternperature of water in each beaker at regutar
intervals using a thermometer. The graph below shows the results of the

experment.
]
1004
Temperature of - - n""‘*‘--u....._-...‘-_-k Materat W
water in beaker \ Naterial X
°C) 1 o, Matenal
50 T e Haterial Y
0 A R f—
0 5 10 15 20 Time{min)
(a) - Basedon the restilts of the experitnent, malch the type of raterials, W and Y
are made of. _ (1m)
We . : wmetal
Y# -+ wWool

(b) Which material W, X or Yis the most ideal for making a container to keep ice-
cream frozen? Explain your answer cleardy. {(1m}

End of Paper

12
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31)a)The anther and the stigma are inside the flower.
b)Pollen grain are stuck on the insect’s body when it flies to anther flous
of the same species, the pollen is deposited on the stigma.

32)a}CéII Ais a sperm. Cell B is a polien grain.
b)Pollen tube.
c)Both help the male sex cell to move towards the female sex cell.

'33)a)The aim to find out if the amount of water given daily affects the heigh
of the seedling after 10 days.






36)b)i)2 3
c)The insect shed has to shed the hard outer skin asit prevents them from
growing. |

37}a)i.
b)it does not have chloroplast and does not need to make food.

38)a)Small intestine.
b)To help absorb food more quickly into the blood.

39)a)

>

Temperature /°C

100 -

| L i | 3 i | LN
1 1 [} ¥ 1 I b :
A 8 C D E F Time |

b)He added cold water to the kettle.

<)
Volume of water (mi) ' T
A :
!
! Water at start - g
§_ B of .boil :
3 ‘ . “. ) . 1
i
t
i
¥ H
|
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